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1.  Explain meaning of Cost Accounting. Discuss the advantages and limitations of Cost

Accounting. 14
OR

Discuss Cost Accounting v/s Financial Accounting. 14

2. From the following information, find out Inventory Turnover Rate and Turnover
Period : 14

Particulars Material — X Material-Y

Opening Stock 1,20,000 2.,40,000
Purchases 3,920,000 6,00,000
Closing Stock 60,000 1,20,000
OR
From the followinig transactions of purchases and issues of material P in a factory
during March 2022 prepare Stock Register as per Weighted Average method. 14
Opening Stock of material P during March 2022 is 2400 units with the price of ¥ 6 per unit.
Date il 3 liecei-pts_ ! éate pl’,:l‘ Issues 6ua:1tily |
H Quantity in Units | Unit %) in Unitsm“-
C08-03-202 | - - | 1800
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A worker has been allowed to complete a work in 500 hours, but he completes the work

in 400 hours. Labour rate per hour is Z 20.
and factory overheads are 150%

methods

(1)

L]
L]

Piece Rate System

(111) Halsey premium plan

OR

(A) Explain Labour Turnover Rate.

(i) Time wage plan
(1iv) Rowan premium plan

If cost of material in production is ¥ 10,000
of direct labour, find out factory cost as per following

14

.

(B) The following is the information of workers of Dhanish Cotton Mill for the month
of February 2022 :

No. of workers at the beginning of the month
No. of workers at the end of the month

No. of workers who left the mill

Labour Turnover rate as per during month method

8,700
3,300
840
25%

Find out No. of workers recruited in the mill.

In one company there are three production departments and two service departments.
The following figures are available from it§ books:-

3
15,000
1,800
4,500
4,500

(1) Rent and Rates

(2) General lighting

(3) Indirect Labour

(4) Power

(5) Depreciation on Machine

(6)

Mise: expenses

The following was additional information

30,000
30,000

14

| Production Depts. Service Depts. 11
| No. | Particulars ™Te ~ c . g 1
Lo hArea oceupied (Sq. Mts.) | 6,000 7,500 |  9.000 | 6.000 1500
D Light Points N I 30 45 - 60 ol _19_,__1.1_'
3 Direct Labour (%) 9.000 6,000 ?UUO_“H_O“*I_EEE_ |
‘4 | Horse Power of Machine | 180 0| 150] 30 "
1 j_i(mt ut'_l\fluuh_incﬂf) | 1,80,000 140,001)_ 3,00.000_1 _lf_.{]llﬂi _I.'F_(]G‘C'r
The expenses of Service Departments are allocated as under :
A B C D E
D | 20% | 30% |40% | - | 10% |
E | 40% | 20% | 30% | 10% | —
DE-104 6



Prepare :

(1) Statement of distribution of overheads to various departments.

(2) Statement of distribution of expenses of service departments to production

departments.
OR
(A) Explain Fixed, variable and semi-variable expenses with illustration.
(B) Find out Machine hour rate from the following details :
3
Cost of Machine | 21,45,000
Useful life 27 years during which repairing expense 4,86,000
Scrap Value at the end 2,01,000
Other fixed expenses, yearly 1,80,000

Expenses of power consumption for a machine * 8,91,000

yearly (including surcharge)

The Machine uses 60 units of power per hour@nd the rate per unit being < 6.

Surchage is to be calculated at 10% on expenses of power consumption.

answer is correct. Select the.correéhanswer i(Attempt any seven)

(1)

{3)

(4)

DE-104

From the following whi€hitent is relevant to operating costing ?

(A) Vehicle service (B) Book publication
(C) Brick industry (D) Motor garage
Advertisgment €xpense 1s expense.

(A) . Selling and distribution indirect (B) Factory indirect

(C) “Administrative indirect (D) None of the above

(n which method stock consists of first purchase ?

(A) FIFO method (B) LIFO method

(C) Weighted Average method (D) Standard Price method

In which method closing stock is valued at a price which 1s a
current market price ?
(A) LIFO method (B) FIFO method

(C) Weighted Average method (D) Fixed Price method

7

In the following sub-questions, mor€ than oné answer is given, of which only one

most nearer to

14

P.T.O.



(3)

(6)

(7)

(8)

(9)

(10)

(11)

(12)
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Which of the following methods of stock control aims at concentrating efforts on
selected items of materials ?

(A) Materials turnover rate (B) ABC analysis

(C) Perpetual inventory system (D) Periodic inventory system
Most Profitable Quantity to purchase is called —

(A)  Maximum Quantity (B) Economic Ordering Quantity
(C)  Minimum Quantity (D) Average Quantity

Recess time to worker during the day is —
(A) not considered as unproductive

(B) abnormal unproductive time

(C)  normal unproductive time

(D) None of the above

Which one of the following is not considered an Incentive Wage System ?
(A) Rowan wage plan (B) Halsey wage plan
(C) Time wage plan (D) _Bonus wage plan

Which of the following items is not taken into consideration while calculating
labour turnover rate as per Flux methéd ?

(A) No. of employees retired.
(B) No. of employees dismissed.

(C) No. of employees appointed inder expansion plan.

(D) No. of employees appointed on existing posts.

From which of the following incentive wages system, workers also get share in
the profit and management ©

(A) Profit sharing (B) Halsey wages system
(C) «Co-Partnérship (D) Rowan wages system

Wiich' method is used for apportioning service department expenses over
production departments ?

(A) [east Square Method (B) Comparison Method
() Graphic Presentation Method (D) Direct Method

[n the Cost Accounts, delivery van Exps. are included

(A) Factory Cost (B)  Administrative Cost
(C) Office Cost (D)  Selling Cost
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